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1) What was the question that was posed to prx® 92 jan1 27?

2) Why should the avr be on the 2°own?

3) Why should the 2 be on the "o1w?

4) The R na tries to bring a proof from a certain 7. What is the 17 and the proof?

5) How does the xana refute this proof (°"w1)?

6) What is the answer of prix» 92 am1 29, from the xn»92?

7) How does >"wn explain this p7?

8) What does nnonn non accomplish according to »"wA?

9) What are the 3 types of 1 for buying a house?

10) Which types of 11 can be used to acquire a lease on a house?

11) Explain the meaning of "3 prm 72", and when it is needed?

12) What does nnoni na°on accomplish (‘own)?

13) Why do msoin disagree with >"wA based on the above?

14) According to nm»oin, explain the reason for the answer of the x2)?

15) (Based on this, explain what we could think would be the 1>7 if one gives the keys of his

house to a friend before the time of ynn np>72?

16) How do maon explain why this is not correct?
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